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1. Write the structure of a compound with a

coordinate bond.

Watch Video Solution

2. What is the shape of  molecule and

what type of hybridisation exhibited by B-atom

in  ?

Watch Video Solution

BCl3

BCl3

https://dl.doubtnut.com/l/_rqToDAgX8DAZ
https://dl.doubtnut.com/l/_DmKjoPqb5cFz


3. What type of hybridisation takes place in

carbon atom for the formation of graphite ?

Watch Video Solution

4.  is a liquid while hydrogen sulphide is a

gas at room temperature. Give reasons.

Watch Video Solution

H2O

https://dl.doubtnut.com/l/_rKkZl6uwdJv8
https://dl.doubtnut.com/l/_QFXagnxoYQBE


5. What is the shape of  molecule and it is

due to what type of hybridisation ?

Watch Video Solution

NH3

6. What is the bond angle in  molecule ?

Watch Video Solution

SO2

7. What is the shape of  molecule ?

Watch Video Solution

NH3

https://dl.doubtnut.com/l/_uGxkDWx955QV
https://dl.doubtnut.com/l/_mDMtpP0qPGc4
https://dl.doubtnut.com/l/_Z2Mc4aQxTjXF


8. Which of the halogens forms hydrogen

bond ?

Watch Video Solution

9. Name the type of overlapping and type of

bond in forming HF molecule ?

Watch Video Solution

https://dl.doubtnut.com/l/_Z2Mc4aQxTjXF
https://dl.doubtnut.com/l/_xi85DbC9FAXJ
https://dl.doubtnut.com/l/_xqh5jRduYBdL


10. What type of hybridisation takes place in

carbon atom for the formation of graphite ?

Watch Video Solution

11. Why is carbon tetrachloride immiscible in

 ?

Watch Video Solution

H2O

https://dl.doubtnut.com/l/_NKeVL5Ez0TbA
https://dl.doubtnut.com/l/_dz72VvLUwD3y


12. What is the shape of carbondioxide

molecule ?

Watch Video Solution

13. What is the bond angle in  molecule ?

Watch Video Solution

SO2

14. What is the shape of  molecule ?

Watch Video Solution

BCl3

https://dl.doubtnut.com/l/_tKWuTuKRsAkQ
https://dl.doubtnut.com/l/_8oHg6QaylDl0
https://dl.doubtnut.com/l/_1b8G90eiwySW


15. How many sigma and pi-bonds are there in

a molecule of acetylene ?

Watch Video Solution

16. What type of hybridisation takes place in

the formation of  molecule ?

Watch Video Solution

CO2

https://dl.doubtnut.com/l/_1b8G90eiwySW
https://dl.doubtnut.com/l/_bISmFon9wjZ8
https://dl.doubtnut.com/l/_9cEOL3BMwV9V


17. What is the bond angle between two hybrid

bonds in  hybridisation

Watch Video Solution

sp2

18. What is the bond angle in the molecule of

ammonia ?

Watch Video Solution

19. Which of the following has largest size ?

https://dl.doubtnut.com/l/_ugiPWUEOkzJ8
https://dl.doubtnut.com/l/_gyU0mcCovQ3b
https://dl.doubtnut.com/l/_5A78ovDb0aNC


Watch Video Solution

20. What is the shape of  molecule ?

Watch Video Solution

NH3

21. Mention the hybrid state of sulphur in 

molecule ?

Watch Video Solution

H2S

https://dl.doubtnut.com/l/_5A78ovDb0aNC
https://dl.doubtnut.com/l/_MjI6np1YE4kv
https://dl.doubtnut.com/l/_DlVqmRPhrQ6Q


22. What is the bond angle in  ion ?

Watch Video Solution

NH
+

4

23. What is the bond angle between two

hybrid bonds in  hybridisation ?

Watch Video Solution

sp2

24. Compare the dipole moments of the-

following pairs of compounds ? CO2, SO2

https://dl.doubtnut.com/l/_4VjmRXIc4XGB
https://dl.doubtnut.com/l/_VwbJno70XGJQ
https://dl.doubtnut.com/l/_oGRb0Q8j1cr0


Watch Video Solution

25. Compare the dipolemoments of the

following pair of compounds : 

Watch Video Solution

CHCl3, Cl4

26. Give shapes of the following : 

Watch Video Solution

NH4 +

https://dl.doubtnut.com/l/_oGRb0Q8j1cr0
https://dl.doubtnut.com/l/_0t6BuesPDqL5
https://dl.doubtnut.com/l/_swrEAQvjWyrK


27. Give shapes of the following : 

Watch Video Solution

H3O +

28. Write a note on hybridisation.

Watch Video Solution

sp2

29. Describe two characteristic properties' of

electrovalent compounds.

Watch Video Solution

https://dl.doubtnut.com/l/_h99cf69EfllM
https://dl.doubtnut.com/l/_fLGoIoOI9VIv
https://dl.doubtnut.com/l/_q8Q1OBXvabrs


30. Why hydrofluoric acid is the weakest of all

the halogen acids ?

Watch Video Solution

31. Why  molecules remain associated in

the liquid form ?

Watch Video Solution

H2O

https://dl.doubtnut.com/l/_q8Q1OBXvabrs
https://dl.doubtnut.com/l/_O1wxXgtCNiAi
https://dl.doubtnut.com/l/_Ew3opoOaz6zR


32. What do you understand by hydrogen

bond ?

Watch Video Solution

33.  is a liquid while hydrogen sulphide is

a gas at room temperature. Give reasons.

Watch Video Solution

H2O

https://dl.doubtnut.com/l/_KaBHZXNwfZt1
https://dl.doubtnut.com/l/_ORZxr7UonRHJ


34. Why three p-orbitals of each of the two

atoms cannot form more than one sigma

bond ?

Watch Video Solution

35. How many sigma and pi-bonds are there in

ethylene ?

Watch Video Solution

https://dl.doubtnut.com/l/_FEEX8KQ53Omv
https://dl.doubtnut.com/l/_4WNhRYQS9wFS


36. What is the bond angle and shape of 

?

Watch Video Solution

CO2

37. In which reaction the reactants has. less

energy than the products ?

Watch Video Solution

38. What is the shape of methane molecule ?

https://dl.doubtnut.com/l/_EXYS5LbkRAJP
https://dl.doubtnut.com/l/_Ycjc8jZpXZ9P
https://dl.doubtnut.com/l/_PPhhuwAA48Tk


Watch Video Solution

39. Among the compounds, , HF and 

in which the hydrogen bonding is most

prominent and why ?

Watch Video Solution

NH3 CH4

40. What are sigma and Pi-bonds ?

Watch Video Solution

https://dl.doubtnut.com/l/_PPhhuwAA48Tk
https://dl.doubtnut.com/l/_Tzit8AE5rbXe
https://dl.doubtnut.com/l/_u3Vok3b3Kroi
https://dl.doubtnut.com/l/_j0AXl3MgHWXS


41. What do you understand by hydrogen

bond ?

Watch Video Solution

42. How do you account for the fact that 

is a liquid and  is a gas at room

temperature ?

Watch Video Solution

H2O

H2S

https://dl.doubtnut.com/l/_j0AXl3MgHWXS
https://dl.doubtnut.com/l/_GJJgcJ4F7ik2


43. What do you understand by hydrogen

bond ?

Watch Video Solution

44. What are sigma and pi-bonds ?

Watch Video Solution

45. What are sigma and pi-bond's ? What is

the bond angle and shape of the methane

https://dl.doubtnut.com/l/_k15OyqIogWx2
https://dl.doubtnut.com/l/_D4MypwK83vTy
https://dl.doubtnut.com/l/_6uh7Mwknz8aZ


molecule ?

Watch Video Solution

46. What is the shape of methane molecule ?

Watch Video Solution

47. What are overlapping orbitals of carbon

and oxygen in CO ?

Watch Video Solution

https://dl.doubtnut.com/l/_6uh7Mwknz8aZ
https://dl.doubtnut.com/l/_vqPLHdpX2l4A
https://dl.doubtnut.com/l/_Thlokk2UwZ5p


48. Why  is non-polar but  is polar ?

Watch Video Solution

CO2 SO2

49. Draw the orbital diagram of  and

indicate the orbitals used by the element.

Watch Video Solution

CO2

50. What is the order of increasing bond angle

of the following ? What is the theory involved

https://dl.doubtnut.com/l/_xVAfywO76oqC
https://dl.doubtnut.com/l/_TpYiP1AfDnu7
https://dl.doubtnut.com/l/_8YTVS7vJ2WqR


? 

Watch Video Solution

H2O, NH3, CH4

51. Discuss with examples the directional

properties of covalent bonds.

Watch Video Solution

52. Explain the term hybridisation. What is

meant by  and  hybrid orbitals ?

Watch Video Solution

sp3 sp2

https://dl.doubtnut.com/l/_8YTVS7vJ2WqR
https://dl.doubtnut.com/l/_KQgt43jB0YV9
https://dl.doubtnut.com/l/_L4xR6x9a3anf


53. Write a note On electronegativity.

Watch Video Solution

54. Explain with example the terms electro-

valency, covalency and coordinate valence.

Watch Video Solution

55. Write a note on hydrogen bond.

https://dl.doubtnut.com/l/_L4xR6x9a3anf
https://dl.doubtnut.com/l/_pknyLG0qmnTO
https://dl.doubtnut.com/l/_yp1MWZIIrhPA
https://dl.doubtnut.com/l/_1INcG6cxrk4M


Watch Video Solution

56. What is covalent bond ? Explain why the

covalent bonds between , oxygen and

hydrogen atoms in  molecule are polar.

Watch Video Solution

H2O

57. What is hydrogen bond ? How does it

influence the properties of compounds ?

Explain with two examples.

https://dl.doubtnut.com/l/_1INcG6cxrk4M
https://dl.doubtnut.com/l/_D8t7GOuZcSyF
https://dl.doubtnut.com/l/_6WaYqXdGryQ5


Watch Video Solution

58. Explain electrovalency and covalency with

two suitable examples of each.

Watch Video Solution

59. What is hybridisation ? State the

conditions for its formation. Name the

hybridisation that the central atom undergoes

in the formation of

BCI3, H2O, CH4 and SO2

https://dl.doubtnut.com/l/_6WaYqXdGryQ5
https://dl.doubtnut.com/l/_Krqxw7lUVSuP
https://dl.doubtnut.com/l/_h5YQR6mqDFBV


Watch Video Solution

60. Explain electrovalency and covalency with

two suitable examples of each.

Watch Video Solution

61. Explain with example the terms electro-

valency, covalency and coordinate valence.

Watch Video Solution

https://dl.doubtnut.com/l/_h5YQR6mqDFBV
https://dl.doubtnut.com/l/_OEhnZwjDfSP1
https://dl.doubtnut.com/l/_D8cLpFv9hut8
https://dl.doubtnut.com/l/_goTzk8eM4BLA


62. Write short notes on: Electrovalent bond

Watch Video Solution

63. Write short notes on: Covalent bond

Watch Video Solution

64. Write a note on hydrogen bond.

Watch Video Solution

https://dl.doubtnut.com/l/_goTzk8eM4BLA
https://dl.doubtnut.com/l/_1f7RJC81aq9I
https://dl.doubtnut.com/l/_noGLsDi4gJ4c
https://dl.doubtnut.com/l/_8vcPBfWRnxjL


65. Write notes on: Born-Haber Cycle.

Watch Video Solution

66. Write notes on: Born-Haber Cycle.

Watch Video Solution

67. Draw the molecular orbital energy level

diagram for  and discuss its stability, bond

order and magnetic character.

H2

https://dl.doubtnut.com/l/_8vcPBfWRnxjL
https://dl.doubtnut.com/l/_vlpiJ2wcwtnm
https://dl.doubtnut.com/l/_sC6sCCB1tZcU


Watch Video Solution

68. When a chemical bond is formed, the

energy of the system:

A. Increases

B. decreases

C. does not change

D. sometimes increases and sometimes

decreases

Answer: B

https://dl.doubtnut.com/l/_sC6sCCB1tZcU
https://dl.doubtnut.com/l/_zZFxUYAOZkDK


Watch Video Solution

69. The bond formed by sidewise overlapping

of atomic orbitals is:

A. sigma bond

B. pi bond

C. coordinate bond

D. ionic bond

Answer: B

https://dl.doubtnut.com/l/_zZFxUYAOZkDK
https://dl.doubtnut.com/l/_Xa6Mv6HJXoBn


Watch Video Solution

70. A  molecule contains:

A. 2  and 1 

B. 4 

C. 2  and 2 

D. 4 

Answer: C

Watch Video Solution

CO2

σ − bonds π − bond

π − bonds

σ π − bonds

σ − bonds

https://dl.doubtnut.com/l/_Xa6Mv6HJXoBn
https://dl.doubtnut.com/l/_5II8t1g47LrC
https://dl.doubtnut.com/l/_uZC79X8jyAGy


71. Which of the following molecule does not

have dipole moment greater than zero ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NH3

CHCl3

H2O

CCl4

https://dl.doubtnut.com/l/_uZC79X8jyAGy
https://dl.doubtnut.com/l/_EOikLV5bYLWo


72. The liner structure is not assumed by:

A. 

B. 

C. 

D. HCN

Answer: A

Watch Video Solution

SnCl2

CS2

NO+
2

https://dl.doubtnut.com/l/_EOikLV5bYLWo


73. Which of the following species contains

two lone pairs ant two bond pairs around the

central atom ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CO2

H2O

NH3

BF2

https://dl.doubtnut.com/l/_ySjANtLCMQ4r


74. The formation of adduct between 

and  involves the formation of:

A. ionic bond

B. covalent bond

C. coordinate bond

D. hydrogen bond

Answer: C

Watch Video Solution

NH3

BF3

https://dl.doubtnut.com/l/_p1YECNQUeFvf
https://dl.doubtnut.com/l/_4064yUH7pdjg


75. According to VSEPR theory. The most

probable shape of the molecule having 4

electron pairs around the central atom is:

A. nexahedral

B. tetrahedral

C. octahedral

D. linear

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4064yUH7pdjg
https://dl.doubtnut.com/l/_sDVrhZMm0htV


76. The correct description of bonds in 

Molecule is:

A. 

B. 

C. 

D. sp

Answer: B

Watch Video Solution

C2H2

sp3d

sp3

sp2

https://dl.doubtnut.com/l/_sDVrhZMm0htV


77. The shape of  ion is:

A. tetrahedral

B. trigonal planar

C. triangular pyramidal

D. trigonal bypyramidal

Answer: B

Watch Video Solution

ClO−
3

https://dl.doubtnut.com/l/_xF0yJGiOJzLr


78. The bond length between `sp hybrid carbon

and other carbon is minimum in:

A. propane

B. butane

C. propene

D. propyne

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JIf87Txc9RzV
https://dl.doubtnut.com/l/_kEO0YgUt3Vrx


79. The number and type of bonds between

two carbon atoms in calcium carbide are:

A. one , one 

B. one , two 

C. two , one 

D. one  ,

Answer: B

Watch Video Solution

σ π

σ π

σ π

σ 1 π
1

2

https://dl.doubtnut.com/l/_kEO0YgUt3Vrx


80. The maximum number of hydrogen bonds

in which water molecule can participate is:

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_9WQNusuqOOrL
https://dl.doubtnut.com/l/_Fd8r1c7EqCeH


81. The correct order of C-O bond length

among CO,  is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CO2 −
3 , CO2

CO2
3 < CO2 < CO

CO2 < CO2 −
3 < CO

CO < CO2 −
3 < CO2

CO < CO2 < CO2 −
3

https://dl.doubtnut.com/l/_Fd8r1c7EqCeH


82. In which o the following bond angle

around the central atom is maximum ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NH3

NH
+

4

PCl3

SCl2

https://dl.doubtnut.com/l/_esWCDm5zrggZ
https://dl.doubtnut.com/l/_MZiBINHOGFqa


83. Which of the following has not a lone pair ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NH3

PCl3

PH3

BF3

https://dl.doubtnut.com/l/_MZiBINHOGFqa


84. What is the hybridization of nitrogen in

 ?

A. sp

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH3

sp2

sp3

dsp2

https://dl.doubtnut.com/l/_ZD3CHkxJBjnl
https://dl.doubtnut.com/l/_aVWZbIOhiU7T


85. Among the following molecule which is an

electron deficient compound ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NF3

BF3

PF3

AsF3

https://dl.doubtnut.com/l/_aVWZbIOhiU7T


86. Bond type between O and B in

 is:

A. coordinate

B. covalent

C. ionic

D. hydrogen

Answer: A

Watch Video Solution

BH3 ← (OC2H5)2

https://dl.doubtnut.com/l/_96msiP0Ob84i
https://dl.doubtnut.com/l/_U2E6NFwzoljW


87. The state of hybridisation of boron and

oxygen in boric acid  are

respectively:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(H3BO3)

sp3 and sp2

sp2 and sp3

sp2 and sp2

sp3 and sp3

https://dl.doubtnut.com/l/_U2E6NFwzoljW
https://dl.doubtnut.com/l/_7qDt14KqaQPg


88. Which one the following has a regular

tetrahedral structure ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

BF
−

4

SF4

XeF4

[Ni(CH)4]
2 −

https://dl.doubtnut.com/l/_7qDt14KqaQPg


89. Total number of lone pair of electrons in

 IS:

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

XeOF4

https://dl.doubtnut.com/l/_COBw9YxFOO1F
https://dl.doubtnut.com/l/_rT37ozoyoeq4


90. What is the bond angle in  ion ?

Watch Video Solution

NH
+

4

91. Mention the hybrid state of sulphur in 

molecule ?

Watch Video Solution

H2S

92. What is the bond angle between two

hybrid bonds in sp hybridisation ?

Watch Video Solution

https://dl.doubtnut.com/l/_rT37ozoyoeq4
https://dl.doubtnut.com/l/_fXUEfHDths0m
https://dl.doubtnut.com/l/_i7lUmfwbgXRQ


93. What are overlapping orbitals of carbon

and oxygen in CO ?

Watch Video Solution

94. What is the shape of ammonia molecule ?

Watch Video Solution

https://dl.doubtnut.com/l/_i7lUmfwbgXRQ
https://dl.doubtnut.com/l/_HI35H60HZlLm
https://dl.doubtnut.com/l/_H564etUSc10A


95. What is the bond angle in the molecule of

ammonia ?

Watch Video Solution

96. Why metallic sodium is soft ?

Watch Video Solution

97. What is the bond angle between two

hybrid bonds in  hybridisationsp2

https://dl.doubtnut.com/l/_t8J2ebEGqegN
https://dl.doubtnut.com/l/_UW4vXZCvzTfw
https://dl.doubtnut.com/l/_YgzjpDnwEwOU


Watch Video Solution

98. What is the shape of the 'p' orbital ?

Watch Video Solution

99. How many sigma and pi-bonds are there in

a molecule of acetylene ?

Watch Video Solution

https://dl.doubtnut.com/l/_YgzjpDnwEwOU
https://dl.doubtnut.com/l/_WoVYjJwBLNsh
https://dl.doubtnut.com/l/_hfCMUoEysEMC


100. What type of hybridisation takes place in

the formation of CO molecule ?

Watch Video Solution

101. What type of hybridisation takes place in

carbon atom for the formation of graphite ?

Watch Video Solution

102. What is the shape of  molecule ?BCl3

https://dl.doubtnut.com/l/_QXM9ziwJJZUl
https://dl.doubtnut.com/l/_cZbL619Q2tb8
https://dl.doubtnut.com/l/_atXpcBKJkykt


Watch Video Solution

103. What is the maximum number of

electrons that can remain in a molecular

orbital ?

Watch Video Solution

104. Why is carbon tetrachloride immiscible in

 ?

Watch Video Solution

H2O

https://dl.doubtnut.com/l/_atXpcBKJkykt
https://dl.doubtnut.com/l/_BDAz4UP0t4hH
https://dl.doubtnut.com/l/_rjSjDAibupvN


105. What is the shape of carbondioxide

molecule ?

Watch Video Solution

106. Which of the halogens forms hydrogen

bond ?

Watch Video Solution

https://dl.doubtnut.com/l/_rjSjDAibupvN
https://dl.doubtnut.com/l/_AE85ftUbd1J7
https://dl.doubtnut.com/l/_9zuxY8a0Zq1O


107. Name the type of overlapping and type of

bond in forming HF molecule ?

Watch Video Solution

108. What type of hybridisation takes place in

carbon atom for the formation of graphite ?

Watch Video Solution

https://dl.doubtnut.com/l/_NZWOw3pWKWYm
https://dl.doubtnut.com/l/_6uhXsfjmf6R6


109. Among CO, CN- and NO,_____and_____have

bond order equal to that of  .

Watch Video Solution

N2

110. Arrange the species,  and 

 the increasing order of their stability

and bond order.

Watch Video Solution

N −
2 , N2, N +

2

N 2 −
2

https://dl.doubtnut.com/l/_QPOs740SKmIM
https://dl.doubtnut.com/l/_uXRkers5R4e3


111. Among ,

Which one has net dipole moment and why ?

Watch Video Solution

CCl4, BF3, NH3 and CO2

112. Among HCI, , the

molecule showing zero dipole moment is _____.

Watch Video Solution

NCI3CCI4 and CHCI3

https://dl.doubtnut.com/l/_AesnDyxWnijd
https://dl.doubtnut.com/l/_fqCtWmnK907U


113. Between  which one

has greater polarity and dipole moment ?

Watch Video Solution

BeCl2 and SnCl2

114. Among CO,  and NO, which are

isoelectronic species ?

Watch Video Solution

CN −

https://dl.doubtnut.com/l/_MBcVvEsD2Al9
https://dl.doubtnut.com/l/_AajOZySci2Ip


115. Among CN^-`, which

one is paramagnetic ?

Watch Video Solution

N2, CO, NO and

116. What is the bond angle in  ?

Watch Video Solution

H2O

117. Among , which one is

paramagnetic and why ?

H2, N2, O2, and F2

https://dl.doubtnut.com/l/_mmVTWyqTP9ix
https://dl.doubtnut.com/l/_epAqI2dfaRUA
https://dl.doubtnut.com/l/_TRlAlBaU9pY2


Watch Video Solution

118. What is the shape of  molecule and

what type of hybridisation exhibited by B-atom

in  ?

Watch Video Solution

BCl3

BCl3

119. Among  Which one

shows least bond angle and why

Watch Video Solution

NH3, CH4 and H2O

https://dl.doubtnut.com/l/_TRlAlBaU9pY2
https://dl.doubtnut.com/l/_uBOV2VH5zQua
https://dl.doubtnut.com/l/_tlM9m4iGdfel


120. What is dipole moment of a molecule ?

Watch Video Solution

121. What is the unit of dipole moment of a

molecule ?

Watch Video Solution

122. What is the value of 1 Debye ?

https://dl.doubtnut.com/l/_tlM9m4iGdfel
https://dl.doubtnut.com/l/_sRIOgqNfXvhY
https://dl.doubtnut.com/l/_jlcbKOrbDuPi
https://dl.doubtnut.com/l/_de7UlQ9upZ0s


Watch Video Solution

123. Among  and , which is

most reactive ?

Watch Video Solution

O2, O+
2 , O−

2 O2 −
2

124.  is insoluble in water, because _____.

Watch Video Solution

Becl2

https://dl.doubtnut.com/l/_de7UlQ9upZ0s
https://dl.doubtnut.com/l/_de6l7XxYX3oy
https://dl.doubtnut.com/l/_dWSiiofE1CDO


125. Strongest hydrogen bond exhibited in

_____.

A. H-F……….H,

B. H-O……….H,

C. H-N……….H,

D. H-S……….H.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_LEA7YrYjOAbl
https://dl.doubtnut.com/l/_MqeOAfdhhXdH


126. What is the shape of ozone molecule ?

Watch Video Solution

127. Compare the dipole moments of the-

following pairs of compounds ? 

Watch Video Solution

CO2, SO2

128. Compare the dipolemoments of the

following pair of compounds : 

Watch Video Solution

CHCl3, Cl4

https://dl.doubtnut.com/l/_MqeOAfdhhXdH
https://dl.doubtnut.com/l/_4JwThIoMi7nX
https://dl.doubtnut.com/l/_gQodKYHG9vm0


129. What is the angle between two adjacent

 hybrid orbitals ?

Watch Video Solution

sp2

130. Give shapes of the following : 

Watch Video Solution

H3O +

https://dl.doubtnut.com/l/_gQodKYHG9vm0
https://dl.doubtnut.com/l/_h7gr9WSmFYhj
https://dl.doubtnut.com/l/_QcDVdluy6BVG


131. Write the lewis structure of 

molecule.

Watch Video Solution

H2SO4

132. Write the molecular orbital configuration

of  .

Watch Video Solution

O2

https://dl.doubtnut.com/l/_VKmydSWWJW3O
https://dl.doubtnut.com/l/_fF7ZQfDLbEFl


133. Why is sigma bond stronger than pi bond

?

Watch Video Solution

134. HF is less volatile than HCl. Explain.

Watch Video Solution

135. White the electron dot structure of

hydronium ion.

https://dl.doubtnut.com/l/_0y4s7HaOoJvB
https://dl.doubtnut.com/l/_wNjRXUPRUB47
https://dl.doubtnut.com/l/_mPWvamAeDEqY


Watch Video Solution

136. What is odd-electron molecule ? Give one

example.

Watch Video Solution

137. Draw the orbital diagram of  and

indicate the orbitals used by the element.

Watch Video Solution

CO2

https://dl.doubtnut.com/l/_mPWvamAeDEqY
https://dl.doubtnut.com/l/_2232UnDyUTC3
https://dl.doubtnut.com/l/_SnkeH7KSu5SC
https://dl.doubtnut.com/l/_M5thk4k9dbhg


138. What is the order of increasing bond

angle of the following ? What is the theory

involved ? 

Watch Video Solution

H2O, NH3, CH4

139. Iodine is a solid whereas other halogens

are gases. Give reasons .

Watch Video Solution

https://dl.doubtnut.com/l/_M5thk4k9dbhg
https://dl.doubtnut.com/l/_s339OzYuQARO


140. Metals are good conductor of electricity.

Give reasons.

Watch Video Solution

141. Why hydrofluoric acid is the weakest of all

the halogen acids ?

Watch Video Solution

142. Why is  not ionic ?AlCl3

https://dl.doubtnut.com/l/_xuxuNHDqB1IM
https://dl.doubtnut.com/l/_RYaA1zy10ihF
https://dl.doubtnut.com/l/_PW5gD4sOoJKh


Watch Video Solution

143. Synthetic clothes dry up quicker than

cotton clothes / Give reasons.

Watch Video Solution

144. Why  is non-polar but  is polar ?

Watch Video Solution

CO2 SO2

https://dl.doubtnut.com/l/_PW5gD4sOoJKh
https://dl.doubtnut.com/l/_RzKhUI6bispb
https://dl.doubtnut.com/l/_xfCYRH2pw70V


145. Why three p-orbitals of each of the two

atoms cannot form more than one sigma

bond ?

Watch Video Solution

146. What is the bond angle and shape of

methane molecule ?

Watch Video Solution

https://dl.doubtnut.com/l/_qkukzOAhySfr
https://dl.doubtnut.com/l/_10414EFUBugj


147. How do you account for the fact that 

is a liquid and  is a gas at room

temperature ?

Watch Video Solution

H2O

H2S

148. Write a note on hydrogen bond.

Watch Video Solution

149. What is the shape of  molecule ?NH3

https://dl.doubtnut.com/l/_Yv8783c1wGol
https://dl.doubtnut.com/l/_u3S24ccveLMr
https://dl.doubtnut.com/l/_yO4SlJrb6FRY


Watch Video Solution

150. Draw the structure of ammonium ion

showing the different bonds present in it .

Watch Video Solution

151. What is the shape of methane molecule ?

Watch Video Solution

https://dl.doubtnut.com/l/_yO4SlJrb6FRY
https://dl.doubtnut.com/l/_JsltNwFvytVq
https://dl.doubtnut.com/l/_mR7Fhz02rWjc


152. Among the compounds, , HF and 

 in which the hydrogen bonding is most

prominent and why ?

Watch Video Solution

NH3

CH4

153. What is a  bond ? Explain with example.

Watch Video Solution

π

https://dl.doubtnut.com/l/_etG3stDoqZWP
https://dl.doubtnut.com/l/_I5ALAeLdVqMv


154. Give one example of each molecule with

 and  hybrid bond.

Watch Video Solution

SP 2 SP 3

155. Explain why  is polar molecule but 

 is not ?

Watch Video Solution

H2O

CO2

https://dl.doubtnut.com/l/_SbadTfxiWbpB
https://dl.doubtnut.com/l/_shyez97rW5WY


156. Among the compounds, , HF and 

 in which the hydrogen bonding is most

prominent and why ?

Watch Video Solution

NH3

CH4

157. Which of the following is an ionic

compound ?

Watch Video Solution

https://dl.doubtnut.com/l/_iLiMsGY2OqN1
https://dl.doubtnut.com/l/_RPFVlXWGMB2P


158. Draw the structure of ammonium ion

showing the different bonds present in it .

Watch Video Solution

159. What is the bond angle and shape of 

?

Watch Video Solution

CO2

https://dl.doubtnut.com/l/_Wx48Bd7tGcAv
https://dl.doubtnut.com/l/_fDHr2vEiL6sd


160. Why  molecules remain associated in

the liquid form ?

Watch Video Solution

H2O

161. Write the electronic structure of 

and  ions with lines and arrows. 


CO− 2
3

NH
+

4

https://dl.doubtnut.com/l/_RoiDlOJjSCon
https://dl.doubtnut.com/l/_DaKt4McBkh8U


Watch Video Solution

162. What type of hybridisation would account

in the following cases ? 

 is planar with 

Watch Video Solution

BF3 ∠Cl − B − Cl = 120∘

163. What type of hybridisation would account

in the following cases ?

 is linear with 

Watch Video Solution

BeCl2 ∠Cl − Be − Cl = 180∘

https://dl.doubtnut.com/l/_DaKt4McBkh8U
https://dl.doubtnut.com/l/_Z7Gw7DyePFWY
https://dl.doubtnut.com/l/_eqmvqW3Xcfb2


164. AB, CD, EF are three compounds having

electronegativity difference between the

atoms are 1.8, 1.5 and 0.1 respectival.Which one

is more polar and which one is more covalent?

Watch Video Solution

165. Write down the molecular orbital

configuration of  and  .

Watch Video Solution

NO+ NO−

https://dl.doubtnut.com/l/_eqmvqW3Xcfb2
https://dl.doubtnut.com/l/_HiG2cKSbyKaH
https://dl.doubtnut.com/l/_ipk1y5qjyKRt


166. Explain why HF is more polar than HCl .

Watch Video Solution

167. What is the state of hybridisation of

central atom in the following molecules

 and  ?

Watch Video Solution

BeCl2 CCl4

https://dl.doubtnut.com/l/_ipk1y5qjyKRt
https://dl.doubtnut.com/l/_UzcL0Aw04PNr
https://dl.doubtnut.com/l/_CsVNWu24ZDmS


168. The hydrogen bonding in ammonia is less

pronounced than in water. Why ?

Watch Video Solution

169. Distinguish between bonding and

antibonding orbitals.

Watch Video Solution

https://dl.doubtnut.com/l/_3HiR78BOqE4S
https://dl.doubtnut.com/l/_f1OliwweYgHz


170. Write the molecular orbital configuration

of  .

Watch Video Solution

O2

171. The compound in which carbon atom uses

only its  - hybrid orbitals for bond

formation is :

A. HCOOH

B. 

sp3

(H2N)2CO

https://dl.doubtnut.com/l/_bFW7TuCjsU3i
https://dl.doubtnut.com/l/_tZ8I8gY8XTXc


C. 

D. 

Answer: C

Watch Video Solution

(CH3)3COH

CH3CHO

172. The paramagnetic behaviour of 

molecules is best explained by :

A. Molecular orbital theory

B. Resonance theory

O2

https://dl.doubtnut.com/l/_tZ8I8gY8XTXc
https://dl.doubtnut.com/l/_1UTuUVJnP5Kg


C. VSEPR theory

D. Valence bond theory

Answer: A

Watch Video Solution

173. The molecule which has zero dipole

moment is :

A. 

B. 

CH2CI2

BF3

https://dl.doubtnut.com/l/_1UTuUVJnP5Kg
https://dl.doubtnut.com/l/_zWros0RmegvW


C. 

D. 

Answer: B

Watch Video Solution

NF3

ClO−
2

174. A covalent bond is formed between the

atoms by the overlapping of orbitals

containing :

A. Single electron

https://dl.doubtnut.com/l/_zWros0RmegvW
https://dl.doubtnut.com/l/_YM3Fjz1ryvnt


B. Paired electron

C. Single electron with parallel spin

D. Single electron with opposite spin

Answer: D

Watch Video Solution

175. Length of hydrogen bond ranges from 2.5

 to :

A. 3.0 

∘
A

∘
A

https://dl.doubtnut.com/l/_YM3Fjz1ryvnt
https://dl.doubtnut.com/l/_scMybmg9PVNq


B. 2.75

C. 2.6 

D. 3.2

Answer: B

Watch Video Solution

∘
A

∘
A

∘
A

176. A regular hexagonal crystalline lattice of

ice is mostly formed by :

A. Ionic bond

https://dl.doubtnut.com/l/_scMybmg9PVNq
https://dl.doubtnut.com/l/_MOnih4knxSs1


B. Hydrogen bond

C. Covalent bond

D. Metallic bond

Answer: B

Watch Video Solution

177. In which of the following gaseous

molecules, the ionic character of the covalent

bond is greatest :

https://dl.doubtnut.com/l/_MOnih4knxSs1
https://dl.doubtnut.com/l/_nZKD8YY4JkXz


A. HCI

B. HBr

C. HI

D. HF

Answer: D

Watch Video Solution

178. -hybridisation is important in

describing the bonding in :

sp3

https://dl.doubtnut.com/l/_nZKD8YY4JkXz
https://dl.doubtnut.com/l/_Iwm3J9y3jm8g


A. 

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

NH
+

4

CCl4

H3O
+

179. The species which does not show

paramagnetism is:

https://dl.doubtnut.com/l/_Iwm3J9y3jm8g
https://dl.doubtnut.com/l/_IdPmfSEwyfd7


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

O2

O+
2

O2 +
2

H +
2

180. H-B-H bond angle in  IS:

A. 

BH
−

4

180∘

https://dl.doubtnut.com/l/_IdPmfSEwyfd7
https://dl.doubtnut.com/l/_pUi2hwe3ncWP


B. 

C. 

D. 

Answer: C

Watch Video Solution

120∘

109∘

90∘

181. Which of the following is paramagnetic ?

A. 

B. 

N2

H2

https://dl.doubtnut.com/l/_pUi2hwe3ncWP
https://dl.doubtnut.com/l/_3QhlM5m34ylc


C. 

D. 

Answer: C

Watch Video Solution

O2

CI2

182. The nature of bonding in diamond is :

A. Ionic

B. Covalent

C. Metallic

https://dl.doubtnut.com/l/_3QhlM5m34ylc
https://dl.doubtnut.com/l/_rQfLGnoqMen9


D. Coordinate

Answer: B

Watch Video Solution

183. Which is least soluble in .

A. 

B. 

C. 

D. 

H2O

BeF2

SrF2

CaF2

MgF2

https://dl.doubtnut.com/l/_rQfLGnoqMen9
https://dl.doubtnut.com/l/_vTZt3b77kDI2


Answer: B

Watch Video Solution

184. Which is non-polar?

A. 

B. NaSH

C. 

D. 

Answer: C

H2S

Cl2

H2SO4

https://dl.doubtnut.com/l/_vTZt3b77kDI2
https://dl.doubtnut.com/l/_AuPsqJ4l6yXz


Watch Video Solution

185. The electronegativity values of C, H, O, N

and S are 2.5, 2.1, 3.5, 3.0 and 2.5 respectively.

Which of the following bonds is most polar?

A. C-H

B. N-H

C. S-H

D. O-H

Answer: D

https://dl.doubtnut.com/l/_AuPsqJ4l6yXz
https://dl.doubtnut.com/l/_aGcR7puhQOre


Watch Video Solution

186. Which species has lone pair on central

atom?

A. 

B. 

C. 

D. 

Answer: D

CI4

CH4

NH
+

4

H2O

https://dl.doubtnut.com/l/_aGcR7puhQOre
https://dl.doubtnut.com/l/_mswO5z8MYnMc


Watch Video Solution

187. The shape of a molecule which has 3 bond

pairs and one long pair is:

A. Octahedral

B. Pyramidal

C. Triangular planar

D. Tetrahedral

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mswO5z8MYnMc
https://dl.doubtnut.com/l/_HPViDumt0kul


188. The compound showing maximum

covalent character is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

BH3

BCl3

BF3

BBr3

https://dl.doubtnut.com/l/_HPViDumt0kul
https://dl.doubtnut.com/l/_e0BowagT6Oxd


189. Which contains ionic as well as covalent

bonds?

A. LiCI

B. 

C. 

D. 

Answer: B

Watch Video Solution

(NH4)2S

PCl5

CaF2

https://dl.doubtnut.com/l/_tIXalhabhuBt
https://dl.doubtnut.com/l/_CD7bKfBWcaRm


190. The bond order order is maximum in:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2

H +
2

He2

He+
2

191. Which has zero dipole moment?

https://dl.doubtnut.com/l/_CD7bKfBWcaRm
https://dl.doubtnut.com/l/_3jTAz1ncp74s


A. CIF

B. 

C. 

D. 

Answer: C

Watch Video Solution

PCI3

SiF4

CFCI3

192. The molecule with zero dipolemoment is:

A. SO2

https://dl.doubtnut.com/l/_3jTAz1ncp74s
https://dl.doubtnut.com/l/_bZ2ilp5zx9e9


B. 

C. 

D. 

Answer: D

Watch Video Solution

CIO2

NO2

HgCI2

193. The molecule with largest dipole moment

is:

A. CH2CI2

https://dl.doubtnut.com/l/_bZ2ilp5zx9e9
https://dl.doubtnut.com/l/_bRrrCqV6TzXM


B. 

C. 

D. 

Answer: C

Watch Video Solution

CHCI3

CH3CI

CI4

194. The hybridisation of P in  is same as

in :

A. I in 

PO
3 −
4

ICI
−

4

https://dl.doubtnut.com/l/_bRrrCqV6TzXM
https://dl.doubtnut.com/l/_ZSj3cKhsCyuV


B. S in 

C. N in 

D. S in 

Answer: D

Watch Video Solution

SO3

NO−
3

SO
2 −
4

195. The number of sigma and pi bonds in 1 -

butene 3 - yne are:

A. 5 sigma and 5 pi

https://dl.doubtnut.com/l/_ZSj3cKhsCyuV
https://dl.doubtnut.com/l/_VeLC6CRAMYCD


B. 7 sigma and 3 pi

C. 8 sigma and 2 pi

D. 6 sigma and 4 pi

Answer: B

Watch Video Solution

196. For which of the following hybridisation

the bond angle is maximum:

A. sp2

https://dl.doubtnut.com/l/_VeLC6CRAMYCD
https://dl.doubtnut.com/l/_I4Lq3PY4muGN


B. sp

C. `sp^3

D. `dsp^2

Answer: B

Watch Video Solution

197. The type of bond formed between 

and  in  ion is:

A. Ionic

H +

NH3 NH
−

4

https://dl.doubtnut.com/l/_I4Lq3PY4muGN
https://dl.doubtnut.com/l/_2RUXk5eYuBQp


B. Covalent

C. Dative

D. Hydrogen

Answer: C

Watch Video Solution

198.  has the same geometry as: 


(A)  


(B)  


CO2

HgCI2

NO2

https://dl.doubtnut.com/l/_2RUXk5eYuBQp
https://dl.doubtnut.com/l/_OUGxvnUif4kk


(C )  


(D) .

A. A and C

B. B and D

C. A and D

D. C and D

Answer: C

Watch Video Solution

SnCl4

C2H2

https://dl.doubtnut.com/l/_OUGxvnUif4kk


199. Which is not linear?

A. 

B. HCN

C. 

D. 

Answer: D

Watch Video Solution

CO2

C2H2

H2O

https://dl.doubtnut.com/l/_JYI5VVGGBJcd


200. Which has the minimum bond energy?

A. H-Br

B. H-I

C. I-I

D. H-H

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_inMf9Fk4jpX1


201. A molecule which can not exist

theoretically is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

SF4

OF2

OF4

O2F2

https://dl.doubtnut.com/l/_cuy6UOPHbsxD
https://dl.doubtnut.com/l/_Z5Q5V44WM9BI


202. Hydrogen bonding is maximum in :

A. Ethanol

B. Diethyl ether

C. Ethyl chloride

D. Triethyl amine

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Z5Q5V44WM9BI


203. According to Fajan's rule polarisation is

more when:

A. Small cation and large anion

B. Small cation and small anion

C. Large cation and large anion

D. Large cation and small anion

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Xb5i5uaNjYXS
https://dl.doubtnut.com/l/_ob7xINMmdEZx


204. The bond order of CO molecule on the

basis of molecular orbital theory is :

A. Zero

B. 2

C. 3

D. 1

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ob7xINMmdEZx


205. Bond order of  anion is:

A. 3

B. 2

C. 2.5

D. 1.5

Answer: C

Watch Video Solution

N −
2

https://dl.doubtnut.com/l/_rcEs14ledB7C


206. A  - hybrid orbital contains:

A. 1/4 s-character

B. 1/2 s-character

C. 2/3 s-character

D. 3/4 s-character

Answer: A

Watch Video Solution

sp3

https://dl.doubtnut.com/l/_RlZpmo5q77Ep


207. Multiple covalent bonds exist in the

molecule of :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F2

H2

N2

C2H6

https://dl.doubtnut.com/l/_UAuRMJooaULh
https://dl.doubtnut.com/l/_m84FGbGjV8X7


208. The orbitals of same energy level

providing the most efficient overlapping are:

A. 

B. sp - sp

C. 

D. All

Answer: B

Watch Video Solution

sp3 − sp3

sp2 − sp2

https://dl.doubtnut.com/l/_m84FGbGjV8X7


209. Among the following bonds which has the

most polar character :

A. C-O

B. C-Br

C. C-F

D. C-S

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_iy5DWpEAetRR
https://dl.doubtnut.com/l/_oOnyaDTmFXZq


210. Which cannot exist on the basis of MO

theory ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C2

He+
2

H +
2

He2

https://dl.doubtnut.com/l/_oOnyaDTmFXZq


211. Higher is the bond order, greater is:

A. Bond dissociation energy

B. Covalent character

C. Bond length

D. Paramagnetism

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_qIeuN2y2hozz


212. In the formation of  from , the

electron is lost from:

A. A - orbital

B. A - orbital

C. A  - orbital

D. A  - orbital

Answer: A

Watch Video Solution

N +
2 N2

σ

π

σ ∗

π ∗

https://dl.doubtnut.com/l/_BN71wyANqQ1A
https://dl.doubtnut.com/l/_IKcxk3Ul2tr1


213. Which pair represents isostructural

species?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH − and
3 CH +

3

NH
+

4 and NH3

SO
2 −
4 and BF

−
4

NH − and
2 BeF2

https://dl.doubtnut.com/l/_IKcxk3Ul2tr1


214. Which is not an exception to octet rule ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

BF3

SnCI4

BeI2

CIO2

https://dl.doubtnut.com/l/_wt1dQNvsl2eG


215. Which of the following is paramagnetic ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CI2O6

Cl2O7

CI2O

CIO2

https://dl.doubtnut.com/l/_fdcVxHkVvbUC


216. In solid argon, the atoms are held

together by:

A. Ionic bonds

B. Hydrogen bond

C. van der Waals' forces

D. Hydrophobic

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HtLdkEyeYbEX
https://dl.doubtnut.com/l/_8eKgPWW3cVIx


217. The total number of valency for  ion

is :

A. 32

B. 16

C. 28

D. 30

Answer: A

Watch Video Solution

PO
3 −
4

https://dl.doubtnut.com/l/_8eKgPWW3cVIx


218. Which has maximum bond order?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2

N2

F2

O2

https://dl.doubtnut.com/l/_stFrw66FhFSQ


219. Among HX. The maximum dipole moment

is of :

A. HF

B. HCL

C. HBr

D. HI

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_e6CMcXIaruwo
https://dl.doubtnut.com/l/_YhbykA5F3Y4i


220. The bond order in  IS equal to bond

order in:

A. 

B. 

C. CO

D. 

Answer: A

Watch Video Solution

O+
2

N +
2

CN −

NO+

https://dl.doubtnut.com/l/_YhbykA5F3Y4i


221. In which o the following bond angle

around the central atom is maximum ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3

BeF2

H3O
+

CH4

https://dl.doubtnut.com/l/_lA1xG5LbiodW
https://dl.doubtnut.com/l/_Tr77Yy60L1a8


222. Which explains that O- nitrophenol is

more volatile than p- nitrophenol:

A. Hyper conjugation

B. Steric hindrance

C. Hydrogen bonding

D. Resonance

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Tr77Yy60L1a8


223. Which contains a triple bond?

A. 

B. HCN

C. 

D. 

Answer: D

Watch Video Solution

SO3

NH3

C2H4

https://dl.doubtnut.com/l/_3YKEy2Tzzi5A


224. The geometry of compounds formed by

 - hybridisation is :

A. Square planar

B. Octahedral

C. Trigonal bipyramidal

D. Pentagonal bipyramidal

Answer: B

Watch Video Solution

sp3d2

https://dl.doubtnut.com/l/_ICuct9L8GMIG
https://dl.doubtnut.com/l/_Ck7dHHSkY2BN


225. Which does not use  - hybrid orbitals

in its bonding?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sp3

BeF −
3

OH +
3

NH
+

4

NF3

https://dl.doubtnut.com/l/_Ck7dHHSkY2BN


226. In HCHO carbon atom has hybridisation:

A. sp

B. 

C. 

D. None

Answer: B

Watch Video Solution

sp2

sp2

https://dl.doubtnut.com/l/_7cPuJ3K7Je5f


227. The overlapping ability is maximum in

case of :

A.  -hybrid orbital

B. sp- hybrid orbital `

C.  - hybrid orbital

D. Same in all cases

Answer: B

View Text Solution

sp3

sp2

https://dl.doubtnut.com/l/_JWs1lO1wMryX
https://dl.doubtnut.com/l/_sLd2dhvG52Ni


228. A pi- bond is formed by sideways

overlapping of:

A. s-s orbitals

B. p-p orbitals

C. s-p orbitals

D. s-p-s orbitals

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_sLd2dhvG52Ni


229. Which one of the following has not

triangular pyramidal shape ?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

NH3

NCI3

PF3

BCL3

https://dl.doubtnut.com/l/_L3YpjgO3Utlz
https://dl.doubtnut.com/l/_5bwOMf7J4rfv


230. Which compound shows hydrogen :

A. HCI

B. 

C. 

D. 

Answer: B

Watch Video Solution

C2H6

RCH2CHO

RCH2NHCH3

https://dl.doubtnut.com/l/_5bwOMf7J4rfv


231. Among the following bonds which has the

most polar character :

A. 

B. 

C. MgI

D. NaI

Answer: B

Watch Video Solution

AlCl3

AlI3

https://dl.doubtnut.com/l/_Oa7EZNCcsAQ1
https://dl.doubtnut.com/l/_oPGJAnUbJKMJ


232. molecules of:

A. He

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH4

CO2

H2O

233. The diamagnetic molecules are:

https://dl.doubtnut.com/l/_oPGJAnUbJKMJ
https://dl.doubtnut.com/l/_iflaQeJ0b1d3


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

B2, C2, N2

O2, N2, F2

C2, N2, F2

B2, O2, N2

234. Which shows the highest lattice energy?

A. RbF

https://dl.doubtnut.com/l/_iflaQeJ0b1d3
https://dl.doubtnut.com/l/_Cvl0pVCnazXH


B. CsF

C. NaF

D. KF

Answer: B

Watch Video Solution

235. Which one has a planar structure?

A. 

B. 

CH +
3

CIO−
2

https://dl.doubtnut.com/l/_Cvl0pVCnazXH
https://dl.doubtnut.com/l/_W8iVtRgfGSdh


C. 

D. 

Answer: A

Watch Video Solution

H3O
+

CIO−
2

236. Which one is the strongest bond?

A. CI-F

B. F-F

C. Br-F

https://dl.doubtnut.com/l/_W8iVtRgfGSdh
https://dl.doubtnut.com/l/_eUsz2eom3sqa


D. Br-CI

Answer: C

Watch Video Solution

237.  molecule is:

A. Square planar

B. Trigonal bipyramid

C. Tetradedral

D. Trigonal pyramidal

PF3

https://dl.doubtnut.com/l/_eUsz2eom3sqa
https://dl.doubtnut.com/l/_xOBRsgTOaVMn


Answer: D

Watch Video Solution

238. Which one is the strongest bond?

A. H - CI

B. CI-CI

C. C-CI

D. B-CI

Answer: A

https://dl.doubtnut.com/l/_xOBRsgTOaVMn
https://dl.doubtnut.com/l/_nos34cLjuqSF


Watch Video Solution

239. Which one has a planar structure?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH
+

4

SCl4

XeF4

BF
−

4

https://dl.doubtnut.com/l/_nos34cLjuqSF
https://dl.doubtnut.com/l/_c3u5tbHOOiNA


240. What is the bond angle in the molecule of

ammonia ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

109∘ 28'

90∘

107∘

105∘

https://dl.doubtnut.com/l/_c3u5tbHOOiNA
https://dl.doubtnut.com/l/_YAFyuSVxPGWX
https://dl.doubtnut.com/l/_e344m6GepSTU


241.  is insoluble in water because :

A.  is non-polar and water is polar

B. Water is non -polar and  is polar

C. Water and  both are polar

D. None of these

Answer: A

Watch Video Solution

CCl4

CCl4

CCl4

CCl4

https://dl.doubtnut.com/l/_e344m6GepSTU


242. Which species does not exist ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(SnCl6)2 −

(GeCl6)2 −

(CCl6)2 −

(SiCl6)2 −

https://dl.doubtnut.com/l/_s2wkppy2yK5S


243. Shape of molecules is decided by :

A. 

B. 

C. Both  -bonds

D. Neither  nor  -bonds

Answer: A

Watch Video Solution

σ − bond

π − bond

σ and π

σ π

https://dl.doubtnut.com/l/_f9LmGW7xzQ7f


244. Which force is strongest ?

A. Dipole-dipole forces

B. Ion-ion forces

C. Ion-dipole forces

D. Ion- induced dipole forces

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_8OiwXbFHuAel


245. The compound possessing most strongly

ionic nature is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Srcl2

BaCl2

CaCl2

CsCl2

https://dl.doubtnut.com/l/_4sJjRKdTXmle
https://dl.doubtnut.com/l/_3peCI5aqHwNj


246. Which of the following bonds will be non-

polar ?

A. N_H

B. C_H

C. F-F

D. O-H

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3peCI5aqHwNj


247. Which of the following bonds require the

largest amount of energy to dissociate the

bond concerned ?

A. H-H bond in 

B. C-H bond in 

C. N≡N bond in 

D. O=O bond in 

Answer: C

Watch Video Solution

H2

CH4

N2

O2

https://dl.doubtnut.com/l/_Vxaa967XYGoM


248. Which of the following is not isoelectronic

?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NO−

CN −

N2

O2 +
2

https://dl.doubtnut.com/l/_lvWgXDiXkLU4
https://dl.doubtnut.com/l/_DaondbfNBt49


249. Which can be described as a molecule

with residual bonding capacity ?

A. 

B. 

C. NaCl

D. 

Answer: D

Watch Video Solution

N2

CH4

BeCl2

https://dl.doubtnut.com/l/_DaondbfNBt49


250. Which of the following is true ?

A. C-C

B. C -H

C. C-O

D. None

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_5ODALk6MG8ow


251. The bonds present in  are :

A. Ionic

B. Covalent and coordinate

C. Covalent

D. Ionic and covalent

Answer: B

Watch Video Solution

N2O5

https://dl.doubtnut.com/l/_eQzAG7FO58dM


252. The element which exists in both hard

and soft from is :

A. Fe

B. Si

C. C

D. Al

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_DeQDFNQV8xns
https://dl.doubtnut.com/l/_oNYqUdaRiEvY


253. Resonance is not shown by :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C6H6

CO2

CO2 −
3

SiO2

254. Which compound is non-polar ?

https://dl.doubtnut.com/l/_oNYqUdaRiEvY
https://dl.doubtnut.com/l/_GsEnFq9fWQTw


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CHCl3

SiCl2

SnCl2

NH3

255. The correct order of dipole moment is ?

A. CH4 < NF3 < NH3 < H2O

https://dl.doubtnut.com/l/_GsEnFq9fWQTw
https://dl.doubtnut.com/l/_m2o8DnBFCpwa


B. 

C. 

D. 

Answer: A

Watch Video Solution

NF3 < CH4 < NH3 < H2O

NF3 < NF3 < CH4 < H2O

H2O < NH3 < NF3 < CH4

256.  is isostructural with :

A. 

B. 

CO2

SnCl2

HgCl2

https://dl.doubtnut.com/l/_m2o8DnBFCpwa
https://dl.doubtnut.com/l/_7S86mT9ZjIJF


C. 

D. 

Answer: B

Watch Video Solution

H2O

SCl2

257. Which of the following has shortest

carbon-carbon bond length ?

A. 

B. 

C6H6

C2H6

https://dl.doubtnut.com/l/_7S86mT9ZjIJF
https://dl.doubtnut.com/l/_fNmPLch5TLlY


C. 

D. 

Answer: D

Watch Video Solution

C2H4

C2H2

258. Among the following molecule which is an

electron deficient compound ?

A. 

B. ICl

NH3

https://dl.doubtnut.com/l/_fNmPLch5TLlY
https://dl.doubtnut.com/l/_gQqsrPRbGLwy


C. 

D. 

Answer: C

Watch Video Solution

BCl3

PCl3

259. The bond between atoms of two elements

of atomic number 37 and 53 is :

A. Covalent

B. Ionic

https://dl.doubtnut.com/l/_gQqsrPRbGLwy
https://dl.doubtnut.com/l/_WSb8KfzzSYgU


C. Coordinate

D. Metallic

Answer: B

Watch Video Solution

260. As compared to ethylene, the bond

distance between the two carbon atoms in

acetylene is :

A. Longer

https://dl.doubtnut.com/l/_WSb8KfzzSYgU
https://dl.doubtnut.com/l/_JFij549ehqKO


B. Shorter

C. Same

D. None

Answer: B

Watch Video Solution

261. Which ion has a higher polarising power ?

A. 

B. 

Mg2 +

Al3 +

https://dl.doubtnut.com/l/_JFij549ehqKO
https://dl.doubtnut.com/l/_cYBLwKmzaO7g


C. 

D. 

Answer: B

Watch Video Solution

Ca2 +

Na+

262. Which one is most polar ?

A. 

B. 

C. 

CCl4

CHCl3

CH3Cl

https://dl.doubtnut.com/l/_cYBLwKmzaO7g
https://dl.doubtnut.com/l/_ymdsIPEqlqVu


D. 

Answer: D

Watch Video Solution

CH3OH

263. The internuclear distance in  and 

molecules are 74 and 198 pm respectively.The

bond length of H-Cl may be :

A. 272 pm

B. 70 pm

H2 Cl2

https://dl.doubtnut.com/l/_ymdsIPEqlqVu
https://dl.doubtnut.com/l/_4tnzP9O0EAUa


C. 136 pm

D. 248 pm

Answer: C

Watch Video Solution

264. Super octet molecule is :

A. 

B. 

C. 

ClF3

PCl3

NH3

https://dl.doubtnut.com/l/_4tnzP9O0EAUa
https://dl.doubtnut.com/l/_sEXxfrcqaE1F


D. None of these

Answer: A

Watch Video Solution

265. The lowest bond energy exist in the

following bonds for:

A. C-C

B. N-N

C. H-H

https://dl.doubtnut.com/l/_sEXxfrcqaE1F
https://dl.doubtnut.com/l/_yXLZc05RPhHO


D. O-O

Answer: D

Watch Video Solution

266. Hydrogen bonding would not affect the

boiling point of :

A. HI

B. 

C. 

NH3

CH3OH

https://dl.doubtnut.com/l/_yXLZc05RPhHO
https://dl.doubtnut.com/l/_PRVPkjhfVb9a


D. 

Answer: A

Watch Video Solution

H2O

267. Which is a good solvent for ionic and

polar covalent compounds ?

A. 

B. 

C. 

H2O

CH3COOH

CCl4

https://dl.doubtnut.com/l/_PRVPkjhfVb9a
https://dl.doubtnut.com/l/_NV8cMGICxtMr


D. Liquid 

Answer: A

Watch Video Solution

NH3

268. Which of the following molecules does

not have a linear arrangement of atoms ?

A. 

B. 

C. 

C2H2

H2S

BeCl2

https://dl.doubtnut.com/l/_NV8cMGICxtMr
https://dl.doubtnut.com/l/_NPCP2q9XJ9J7


D. 

Answer: B

Watch Video Solution

CS2

269. which of the following molecules the

central atom has -hybridisation ?

A. 

B. 

C. 

sp2

BeF2

BF3

C2H2

https://dl.doubtnut.com/l/_NPCP2q9XJ9J7
https://dl.doubtnut.com/l/_YTvrTnTehP2T


D. 

Answer: B

Watch Video Solution

NH3

270. Which molecule is T shaped ?

A. 

B. 

C. 

D. 

BeF2

BCl3

NH3

ClF3

https://dl.doubtnut.com/l/_YTvrTnTehP2T
https://dl.doubtnut.com/l/_OCaXeGfkM4zV


Answer: D

Watch Video Solution

271. Among the following molecule which is an

electron deficient compound ?

A. 

B. 

C. 

D. 

C2H4

B2H6

C2H6

NaBH4

https://dl.doubtnut.com/l/_OCaXeGfkM4zV
https://dl.doubtnut.com/l/_QwWwhuK6aW26


Answer: B

Watch Video Solution

272. In which of the following compound the

bonds have the largest percentage of ionic

character ?

A. 

B. HF

C. IBr

D. 

H2O

N2O4

https://dl.doubtnut.com/l/_QwWwhuK6aW26
https://dl.doubtnut.com/l/_jI5bABmxfZb9


Answer: B

Watch Video Solution

273. Which is highest melting point halide ?

A. NaCl

B. NaBr

C. NaF

D. Nal

Answer: C

https://dl.doubtnut.com/l/_jI5bABmxfZb9
https://dl.doubtnut.com/l/_kTKHepfov7u9


Watch Video Solution

274. The correct order of decreasing polarity is

:

A. 

B. 

C. 

D. 

Answer: B

HF > SO2 > H2O > NH3

HF > H2O > SO2 > NH3

HF > NH3 > SO2 > H2O

H2O > NH3 > SO2 > HF

https://dl.doubtnut.com/l/_kTKHepfov7u9
https://dl.doubtnut.com/l/_x2oW4VVs1IY0


Watch Video Solution

275. one species has the longest bond length ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

NO+

O−
2

O+
2

N +
2

https://dl.doubtnut.com/l/_x2oW4VVs1IY0
https://dl.doubtnut.com/l/_G5wIZfywlNtr
https://dl.doubtnut.com/l/_hRFmd1qCzTTd


276. Most covalent halide of aluminium is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

AlCl3

AlI3

AlBr3

AlF3

https://dl.doubtnut.com/l/_hRFmd1qCzTTd


277. Which oxide of nitrogen is isoelectronic

with  ?

A. 

B. 

C. NO

D. 

Answer: B

Watch Video Solution

CO2

NO2

N2O

N2O2

https://dl.doubtnut.com/l/_glmK19nzy2Tb
https://dl.doubtnut.com/l/_kKBiBGkGpufF


278. Which hybridisation results non-planar

orbitals?

A. sp

B. 

C. 

D. 

Answer: C

Watch Video Solution

sp2

sp3

dsp2

https://dl.doubtnut.com/l/_kKBiBGkGpufF


279. Intermolecular hydrogen bonds are not

present in :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CH2OH

CH3COOH

C2H5NH2

CH3OCH3

https://dl.doubtnut.com/l/_mSl4ltpqBiwh
https://dl.doubtnut.com/l/_620QVCFE0Gxg


280. Which of the following has maximum

bond energy ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

O2

O+
2

O2 −
2

O−
2

https://dl.doubtnut.com/l/_620QVCFE0Gxg


281. Highest covalent character is found in

which of the following ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CaF2

CaCl2

CaI2

CaBr2

https://dl.doubtnut.com/l/_wXPSJzaeGXRM
https://dl.doubtnut.com/l/_fnsGiNbqXhuV


282. Dipole moment is highest for :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CHCl3

CH4

CHF3

CCl4

https://dl.doubtnut.com/l/_fnsGiNbqXhuV


283. Which of the following has largest dipole

moment ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH4

NF3

CF4

NH3

https://dl.doubtnut.com/l/_7nZLB8AsiyYj
https://dl.doubtnut.com/l/_KCwtWIRWfgLj


284. Which of the following is diamagnetic ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

O2

O+
2

O−
2

O2 −
2

https://dl.doubtnut.com/l/_KCwtWIRWfgLj


285. The compound with the maximum dipole

moment among the following is :

A. p-dichlorobenzene

B. m-dichlorobenzene

C. o-dichlorobenzene

D. Carbon tetrachloride

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_EYGIK2WOCGh0
https://dl.doubtnut.com/l/_NC54L5U8qpB8


286. How many -bonds are there in the

nitrogen molecule ?

A. One

B. Three

C. Two

D. None

Answer: C

Watch Video Solution

(π)

https://dl.doubtnut.com/l/_NC54L5U8qpB8


287. Octet rule is not valid for the molecule :

A. 

B. 

C. 

D. CO

Answer: B

Watch Video Solution

CO2

H2O

O2

https://dl.doubtnut.com/l/_SBuEKDk48xy2


288. Which contains both covalent and ionic

bonds ?

A. 

B. KCN

C. 

D. 

Answer: B

Watch Video Solution

CCl4

CaCl2

H2O

https://dl.doubtnut.com/l/_WTwd6P7FdC4X
https://dl.doubtnut.com/l/_gK9J3Cjs0iVS


289. Which has a giant covalent structure ?

A. 

B. 

C. NaCl

D. 

Answer: B

Watch Video Solution

PbO2

SiO2

AlCl3

https://dl.doubtnut.com/l/_gK9J3Cjs0iVS


290. Which of the following has fractional

bond order ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

O2 +
2

O2 −
2

F 2 −
2

H −
2

https://dl.doubtnut.com/l/_tBoyhTyjTWyA
https://dl.doubtnut.com/l/_pVNbsOC5Fhzw


291. Each of the following has non zero dipole

moment ,except:

A. 

B. CO

C. 

D. 

Answer: A

Watch Video Solution

C6H6

SO2

NH3

https://dl.doubtnut.com/l/_pVNbsOC5Fhzw


292. Which one is least ionic?

A. AgCl

B. KCI

C. 

D. 

Answer: A

Watch Video Solution

BaCl2

KNO3

https://dl.doubtnut.com/l/_7kV50wHCBDcC


293. The total number of electrons that take

part in forming bonds in  molecule is :

A. 2

B. 6

C. 4

D. 8

Answer: B

Watch Video Solution

N2

https://dl.doubtnut.com/l/_HX8HVeCqC7bB
https://dl.doubtnut.com/l/_URmYnGzipG90


294. Which has -hybridisation?

A. 

B. 

C. 

D. CO

Answer: B

Watch Video Solution

sp2

CO2

SO2

N2O

295. Which bond is more polar?

https://dl.doubtnut.com/l/_URmYnGzipG90
https://dl.doubtnut.com/l/_Gic26VxfFcJW


A. Cl-Cl

B. N-F

C. C-F

D. O-F

Answer: C

Watch Video Solution

296. Both ionic and covalent bonds are

present in :

https://dl.doubtnut.com/l/_Gic26VxfFcJW
https://dl.doubtnut.com/l/_m06tfeAt4odR


A. 

B. KCl

C. 

D. NaOH

Answer: D

Watch Video Solution

CH4

SO2

297. In  molecule, P is :

A. -hybridised

PCl5

sp3

https://dl.doubtnut.com/l/_m06tfeAt4odR
https://dl.doubtnut.com/l/_8P6XKJTwpWVp


B. -hybridised

C. p-hybridised

D. -hybridised

Answer: D

Watch Video Solution

dsp2

ds3

sp3d

298. The total number of valency electrons in

 is :

A. 8

PH
+

4 ion

https://dl.doubtnut.com/l/_8P6XKJTwpWVp
https://dl.doubtnut.com/l/_tgQR46LEYUcL


B. 9

C. 6

D. 14

Answer: A

Watch Video Solution

299. Structure of is :

A. Trigonal

B. Octahedral

ICl−
2

https://dl.doubtnut.com/l/_tgQR46LEYUcL
https://dl.doubtnut.com/l/_IymE5I34OH6i


C. Square planar

D. Distorted trigonal pyramidal

Answer: D

Watch Video Solution

300. The pair of species having identical shape

is :

A. 

B. 

CF4, SF4

PCl3, BF3

https://dl.doubtnut.com/l/_IymE5I34OH6i
https://dl.doubtnut.com/l/_IxXNqaxJOFUt


C. 

D. , 

Answer: C

Watch Video Solution

XeF2, CO2

PF5 IF5

301. Which hydrolysis in water :

A. AgF

B. AgCl

C. AgBr

https://dl.doubtnut.com/l/_IxXNqaxJOFUt
https://dl.doubtnut.com/l/_II5ClQdupbXs


D. AgI

Answer: A

Watch Video Solution

302. Intramolecular hydrogen bonding is

found in :

A. Salicyldehyde

B. Water

C. Acetaldehyde

https://dl.doubtnut.com/l/_II5ClQdupbXs
https://dl.doubtnut.com/l/_DqO9zfghySjV


D. Phenol

Answer: A

Watch Video Solution

303. Which combination is best explained by

the coordinate covalent bond ?

A. 

B. 

C. 

H2 + I2

Mg + O2

1

2

Cl + Cl

https://dl.doubtnut.com/l/_DqO9zfghySjV
https://dl.doubtnut.com/l/_LtZZzYJNTjVb


D. 

Answer: D

Watch Video Solution

H + + H2O

304. boils at higher temperature than 

 because it is capable of forming :

A. Ionic bonds

B. Covalent bonds

C. Hydrogen bonds

H2O

H2S

https://dl.doubtnut.com/l/_LtZZzYJNTjVb
https://dl.doubtnut.com/l/_sjxSANXyL6La


D. Metallic bonds

Answer: C

Watch Video Solution

305. Describe the shape of  molecules.

A. Octahedral

B. Pentagonal pyramidal

C. planar

D. Tetrahedral

XeF6

https://dl.doubtnut.com/l/_sjxSANXyL6La
https://dl.doubtnut.com/l/_bKNA2CgQYNJK


Answer: B

Watch Video Solution

306. Which of the following molecules is

covalent and shows expanded octet in its

formation ?

A. HF

B. 

C. 

D. 

NF3

BF3

ClF3

https://dl.doubtnut.com/l/_bKNA2CgQYNJK
https://dl.doubtnut.com/l/_iHojd0wlqwxL


Answer: D

Watch Video Solution

307. Which does not have pyramidal geometry:

A. 

B. 

C. 

D. 

Answer: B

SO2 −
3

NO−
3

NH3

C(C6H5) −
3

https://dl.doubtnut.com/l/_iHojd0wlqwxL
https://dl.doubtnut.com/l/_iEQLWEOZuMxT


View Text Solution

308. The correct order of ionic radii is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I + > I − > I

I > I + > I −

I + > I > I −

I − > I > I +

https://dl.doubtnut.com/l/_iEQLWEOZuMxT
https://dl.doubtnut.com/l/_tcPKhgb9W5lc


309.  is :

A. Linear molecule and sp-hybridised

B. Tetrahedral molecule and sp^ 3 -

hybridised

C. Bent molecule and sp^3-hybridised

D. None of these

Answer: C

Watch Video Solution

OF2

https://dl.doubtnut.com/l/_tcPKhgb9W5lc
https://dl.doubtnut.com/l/_k8y8AOrY3wjr


310. Which of the following is an ionic

compound ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CaF2

CaBr2

Cal2

CaCl2

https://dl.doubtnut.com/l/_WlmfUsXVmSTM
https://dl.doubtnut.com/l/_IEDFrLoc4sol


311. Which of the following is an ionic

compound ?

A. One molecular orbital

B. Two molecular orbitals

C. Two bonding molecular orbitals

D. Two antibonding molecular orbitals

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_IEDFrLoc4sol


312. Which molecule is planar ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NH3

CH4

C2H4

SiCl4

https://dl.doubtnut.com/l/_eP0jo7gvUhgV


313. The molecule which has pyramidal shape

is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Pcl3

SO3

CO2 −
3

NO−
3

https://dl.doubtnut.com/l/_6mXQ2HX6N2H9
https://dl.doubtnut.com/l/_K0WNUKFSsLAy


314. Resonance is due to :

A. Delocalization of sigma electrons

B. Delocalization of pi electrons

C. Migration of H-atoms

D. Migration of protons

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_K0WNUKFSsLAy


315. In the series ethane,ethylene and

acetyene, the C-H bond energy is :

A. The same in all the three compounds

B. Greatest in ethane

C. Greatest in ethylene

D. Greatest in acetylene

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_stwAHcD34FE4
https://dl.doubtnut.com/l/_9nWZ5b5ZuVGn


316. which is paramagnetic and has bond

order 0.5 ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H +
2

F2

N2

O2

https://dl.doubtnut.com/l/_9nWZ5b5ZuVGn


317. Which is non -polar ,but contains polar

bonds ?

A. HCl

B. 

C. 

D. 

Answer: D

Watch Video Solution

H2O

SO3

CO2

https://dl.doubtnut.com/l/_F3zXsdCteOuA
https://dl.doubtnut.com/l/_GdkybFGoqMsU


318. Which species is paramagnetic ?

A. 

B. 

C. CO

D. 

Answer: A

Watch Video Solution

O−
2

CH −
3

NO+

319. The hydrogen bonding is strongest in :

https://dl.doubtnut.com/l/_GdkybFGoqMsU
https://dl.doubtnut.com/l/_5Vs6TFfLoliO


A. O-H---S

B. S-H---O

C. F-H---F

D. F-H---O

Answer: C

Watch Video Solution

320. Which has largest bond angle ?

A. NH3

https://dl.doubtnut.com/l/_5Vs6TFfLoliO
https://dl.doubtnut.com/l/_mVOE5z7fzHdK


B. 

C. 

D. 

Answer: A

Watch Video Solution

PH3

AsH3

SbH3

321. Which shows non
-directional bonding :

A. 

B. CsCl

BCl3

https://dl.doubtnut.com/l/_mVOE5z7fzHdK
https://dl.doubtnut.com/l/_WHeuVVIq4DjL


C. 

D. 

Answer: B

Watch Video Solution

NCl3

BeCl2

322. Sulphur in  is :

A. sp-hybridised

B. 
hybridised

C. -hybridised

SO2

sp2

sp3

https://dl.doubtnut.com/l/_WHeuVVIq4DjL
https://dl.doubtnut.com/l/_wDoEvix3OOVE


D. - hybridised

Answer: B

Watch Video Solution

sp2d

323. The bond order of  is :

A. 1

B. 2

C. 3/2

D. 1/2

C +
2

https://dl.doubtnut.com/l/_wDoEvix3OOVE
https://dl.doubtnut.com/l/_vthvxkncYLrQ


Answer: C

Watch Video Solution

324. How many unpaired electrons are present

in 

A. 1

B. 2

C. 3

D. 4

N +
2

https://dl.doubtnut.com/l/_vthvxkncYLrQ
https://dl.doubtnut.com/l/_KCnjXh6fSEfN


Answer: A

Watch Video Solution

325. What bond order does have :

A. 1

B. 2

C. 3

D. 44198

Answer: A

O2 −
2

https://dl.doubtnut.com/l/_KCnjXh6fSEfN
https://dl.doubtnut.com/l/_hCZ1oETOqAGD


Watch Video Solution

326. The molecule with largest dipole moment

is:

A. 

B. 

C. 

D. 

Answer: B

CH4

CHCl3

Cl4

CHl3

https://dl.doubtnut.com/l/_hCZ1oETOqAGD
https://dl.doubtnut.com/l/_CHS9O76e7wR8


Watch Video Solution

327.  -hybridisation is shown by :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Sp2

BeCl2

BF3

NH3

XeF2

https://dl.doubtnut.com/l/_CHS9O76e7wR8
https://dl.doubtnut.com/l/_oI7s6ZqOr3UF
https://dl.doubtnut.com/l/_RSSXVTFDHuro


328. Debye an unit of dipole moment is of the

order of :

A.  esu cm

B.  esu cm

C.  esu cm

D.  esu cm`

Answer: B

Watch Video Solution

10− 10

10− 18

10− 6

10− 12

https://dl.doubtnut.com/l/_RSSXVTFDHuro
https://dl.doubtnut.com/l/_12ulohudIsZk


329. Among LiCl ,  and  the

covalent bond character follows the order :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

BeCl2, Bcl3 CCl4

LiCl > BeCl2 > BCl3 > CCl4

LiCl < BeCl2 < BCl3 < CCl4

LiCl < BeCl2 < BCl4 > BCl3

LiCl < BeCl2 < BCl3 > CCl4

https://dl.doubtnut.com/l/_12ulohudIsZk


330. The correct order of decreasing

polarisability of ion is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cl− , Br− , l− , F −

F − , I − , Br− , cl−

I − , Br− , Cl− , F −

F − , Cl− , Br− , I −

https://dl.doubtnut.com/l/_HxrgxEMNvJaL
https://dl.doubtnut.com/l/_8SLAS14NqySv


331. Which one is the strongest bond?

A. Hydrogen

B. Ionic

C. Covalent

D. Metallic

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_8SLAS14NqySv


332. In which of the following the angle

between the two covalent bonds is greatest ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CO2

CH4

NH3

H2O

https://dl.doubtnut.com/l/_HhD1fZC3EJGb
https://dl.doubtnut.com/l/_L8gq5h7zDMpS


333. Which has zero dipole moment?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CO2

SO2

H2O

NH3

https://dl.doubtnut.com/l/_L8gq5h7zDMpS


334. Which has higher bond energy and

stronger bond ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F2

Cl2

Br2

I2

https://dl.doubtnut.com/l/_ZMPspSGjw6HI
https://dl.doubtnut.com/l/_6NzSzY3y3xQY


335. The lattice energy order for lithium halide

is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

LiF > LiCl > LiBr > Lil

LICl > LiF > LiBr > LiI

LiBr > LiCl > LiF > Lil

Lil > LiBr > LiCl > LiF

https://dl.doubtnut.com/l/_6NzSzY3y3xQY

